THK Large Lead Rolled Ball Screws

THK O OOO4OOoOooodno THKO
209411
ooo
ds |d |Dgb
BLKO O WTFO
lBLKDDWTFDDCNFDDDDDDDDDDDDDDDDDDDD@ZSD@BZ 000m
oooo 000|ggg[D00000]000[ooo Dooao
oooo 000 | zz |000) , | Ca | Cea |000|000(00[000[00] 5 [ @, |peb| o | o |20]000
00 |[0oog| O kN kN dp ds | O 00D O * ! 0O |000
BLK2525-3.6 | 34,200 | 38,800 o5 | 12.1 | 35.0[26.0 | 21.9 | 47 | 74 | 55 1235 | 60 | 6.6] 56 |M6x10.10
BLK2525-7.2 | 41,000 | 45,600 21.9 | 69.9 |26.0 | 22.0 | 47 | 74 | 55| 12|35 | 60 | 6.6 56 |M6x 1 0.10
WTF2550¢] | 35,400 | 40,500 | ¢ 8.5 | 21.2[26.0 | 21.9 | 45 | 69 | 52| 12(31.5 57 | 6.6 46 |M6x1 0.10
WTF25508 | 42,500 | 47,600 50 [ 10.4 | 26.9 |26.0 | 21.9 | 45 | 69 |102 | 12 |81.5 57 | 6.6 46 |Méx1 0.10
CNF25504] | 46,800 | 51,900 18.9 | 53.9 /26.0 | 21.9 | 45 | 69 |102 | 12 [81.5 57 | 6.6] O |Méx10.10
WTF30608 | 56,000 | 61,300 11.8 | 30.6 |31.25| 26.4 | 55 | 89 | 62| 15|37 | 71 | 9.0] 56 |Méx 1] 0.14
WTF30604] | 67,100|72,400| 30 | 60 | 14.5 | 38.9 |31.25| 26.4 | 55 | 89 |122 | 15|97 | 71 | 9.0| 56 |Mex1/0.14
CNF30600 | 73,800 | 79,100 26.2 | 77.7 |31.25] 26.4 | 55 | 89 [122 | 15|97 | 71 [9.0] O |mMex10.14
BLK3232-3.6 | 45,900 (50,900 | 5, | 5, | 17.3 | 53.9 [33.25| 28.3 | 58 | 92 | 70[ 1545 | 74 [9.0] 68 [M6x10.14
BLK3232-7.2 | 55,100 | 60,100 31.3 |107.8 [33.25] 28.3 [ 58 | 92 | 70| 1545 | 74 [9.0] 68 [Mex10.14
ooo . M L M
6-¢pd EY 30 L Hi B1
i ]
f v ;
PCD D1 D\dp \} Ld; 'd Dgb
! ! i
M
(AR) s
BLKO O WTFO CNFO
lBLKDDWTFDDDDDDDDDDDDDDDDDDDD(pSGD(pSO 000m
oood DDDDDDDDDDDD go0oooog 0oooag
oooo OO0 [ zz |000 | Ca [Coa |000| 00 [00[000[00] 5 [ 5 [pepl 4. | o [B0[200
0o |\[oooo| O kKN | kN | dp d: | o 00D O ! ! O |000
BLK3620-5.6 | 50,900 56,200 20| 39.8 |121.737.75| 31.2 | 70 | 110 | 78| 17| 45 | 90 |11.0 80|Méx1 0.17
BLK3624-5.6 | 58,100 63,300 .. | 24| 46.2 |137.4/38.0 | 30.7 | 75 [ 115 94| 18|59 | 9411.0 86[M6x1/0.17
BLK3636-3.6 | 53,600 58,900 36| 224 | 70.5(37.4 | 31.7 | 66 | 106 | 77|17 |50 | 85|11.0 76[Méx10.17
BLK3636-7.2 | 64,200 69,500 40.6 |141.1[37.4 | 31.7 | 66 | 106 | 77| 17|50 | 85 |11.0] 76|M6x10.17
BLK4040-3.6 | 59,800 65,300 40 281 | 89.841.75] 352 | 73 [114 | 85| 17| 565 93 |11.0 84[M6x10.17
BLK4040-7.2 | 71,800/ 77,300| ,. 51.1 |179.641.75| 35.2 | 73 | 114 | 85| 17| 565 93 [11.0] 84 |M6x 1 0.17
WTF4080£4] 77,700 83,000 go | 198 | 545/41.75] 352 | 73 [114| 7917|505 93[11.0 74[M6x10.17
WTF4080£] 73,900| 79,200 243 | 69.2(41.75| 35.2 | 73 | 114 [ 159 17 |130.5 93 [11.0 74 |M6x 1/ 0.17
BLK5050-3.6 | 84,900 91,200 5o | 42.1140.4/52.2 | 441 | 90 | 135|106 | 20 | 72 | 112 [14.0/104 M6x 1/ 0.20
BLK5050-7.2 |102,0001108,300| 76.3 1280.752.2 | 44.1 | 90 | 135[106| 20| 72 | 112 [14.0{104 |M6x 1] 0.20
WTF 50100£] | 0 O 0 | 80,400 100 | 296 | 85.2/522 | 44.1 | 90 |135| 98] 20] 64 | 112 [14.0 92|M6x10.20
WTF 501008 |0 OO | 85,300 36.3 1108.1[52.2 | 44.1 | 90 | 135 [ 198 20 [164 | 112 [14.0[ 92|M6x 1] 0.20
R TSO0000000000000004
oo HO | TS1510 | TS1616 | TS2020 | TS2525 | TS3232 | TS3620 | TS3624 | TS3636 | TS4040 | TS5050
500L 9,800 | 10,100 | 10,900 | 12,500
1000L 14,300 | 15,200 | 16,500 | 20,900 | 26,800 | 32,900 | 32,900 | 32,900 | 35,100 | 65,800
1500L 22,400 | 18,300 | 27,900 | 40,500 | 49,400 | 49,400 | 49,400 | 50,800 | 94,400
2000L 36,700 | 52,100 | 62,900 | 62,900 | 62,900 | 68,200 | 126,000
2500L 46,100 | 65,800 | 79,200 | 79,200 | 79,200 | 91,100
3000L 79,100 | 97,100 | 97,100 | 97,100 | 106,000 | 226,000
4000L 157,000 | 332,000
eWTFO OO O4Ooo4ooooooog
oo oo 1530 2040 2550 3060 oo 0o 1530 2040 2550 3060
500L 12,300 13,200 2000L 28,600 44,000 62,600
1000L 18,400 19,700 25,100 32,100 3000L 57,200 | 100,000
1500L 24,300 23,900 33,700 4000L 143,000

w
o) (G 0
CAD

o

o o O0OO0 000 0O o o o

o

o

OO0OO0O0O00 OO0OO0O0O000CO0



